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A2: Evaluating Logarithms

| did the:math

can't aﬂord the tlﬂ!l




HW:

We will be using scientific calculators later in
this unit. Please bring your scientific calculator
starting next week.



ex: Evaluate.

a3 = 3L



ex: Solve by guess and check.

a)2'=16

—y 3

Q 71" =1
O

d) 25" =5
!/2

€29

2=



Definition of a Logarithm

Let b and y be positive numbers with b # 1. The logarithm of y with base b is
denoted by log, y and is defined as follows:

Vlogby = x| ifandonlyif | b*=y

The expression log, y is read as “log base b of y.”




ex: Rewrite in exponential form.



ex: Rewrite in logarithmic form.



e Euahiate. Answer for a log equals exponent

a)log464-=é_\_
T =9

b) log, 81 =)L§ (
-\
3 =3l



ex: Evaluate.

9 log,25 = =



ex: Evaluate.

e) log,,1 = %



ex: Evaluate.

)= -3
9 lo =
g‘(lzs)
-3 - _|
5 7,5
h) logg, 27 = 2

9!@

4

3\



ex: Evaluate.

D log,(-4) \lf\A@’g\‘\Q‘A



Special Logarithms

SPECIAL LOGARITHMS A common logarithm is a logarithm with base 10. It is
denoted by log, , or simply by log. A natural logarithm is a logarithm with base e.
It can be denoted by log , but is more often denoted by In.

Common Logarithm Natural Logarithm

.og,o.r .ogt,x®

Most calculators have keys for evaluating common and natural logarithms.




ex: Evaluate.

a) Iogol 00 = A



ex: Evaluate.

9 log.001 l

Iog, 700~ = o

d)Inl = /Ogel =02
&



ex: Evaluate.

& 1n(l) = -
¢ {
04 €

>

f)lne® = /09&8 = A
- L
C =



ex: Evaluate.

g Ine — {

/Dgee
e =¢



# ex: Evaluate on your calculator. Round to 3 decimal
places.

a)logl6 JQU%
omr 940




